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1. a7, Ter-g s & s i §) o et = qein amedt wali wegrm)

The question paper is in the form of test booklet. All candidates will be assessed on identical questions.

2, OMRWW%QWW@WH@%W%Qmsﬂﬂaﬁﬁﬁamamommﬂzmﬁwﬂamﬁ%n/w%m
T FTeT TS SHETH (ST T e ) <6t a8t JanT it
Read the insfructions on the OMR sheet carefully. Use only ball Point Pen (Black or Blue) for writing /
shading / bubble on OMR sheet and marking your answers. ‘

3.yt g el Io A% B foTe el SR R 31 OMR IR it foa smam ) wier =61 sl ue, fefee e o wiy
OMR = 3fte =1 H1< T e OMR I 3t ol Foler i & e 501 wfaferft =t v wmer vt

A separate OMR answer sheet with carbon impression is provided to all the candidates for answering. On
completion of the test tear the OMR Answer sheet along the perforation mark at the top and handover the

original OMR answer sheet to the invigifator and retain this duplicate copy with you,

4. maqﬁgwé;mﬁwaﬂr/mmﬁmmﬁ T8 og I feremei (a), (b), (c) 3T (d)%waﬁaﬁqw@:
F § el weh o ad )

Each objective question is provided with a text andfor figures wherever applicable with multiple answer
choices (a}, {b), (¢} and (d). Only one of them is correct.
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1. fefofa 9 @ wh-an smede el wai 37
Which of the following abrasives is the hardest?

{a) a@fﬁﬁaﬂ FHi41ge / Aluminium oxide (b) TfeTri7 #iise / Silicon carbide
() =T FEES / Boran carbide (d) B/ Diamond

2. ST e Ol STe S SR ShTeT ST <Y SHd S, T R T
The type of chip formed when cutting ductile material is
{a) TR / Continuous () Torr fata &/ discontinuous

(c)  Ffffg B =mem / with built up.edge (@ Syted dns i uen/ any one of the above

3. R i fn sraret srendsnt s e’ st e, wnrra R S smar g
The grit size of the abrasives used in the grinding wheel is usually specified by
(a)  ‘<hdlar @& / hardness number
(by  ufET «ERE / size of the wheel
(c)  TTIeh <l THAT AT HSGT U / softness or hardness of the abrasive

(@ BYEENY/ mesh number

4. R A, afve e i’ g ward
In grinding practice "grade of wheel" refers to

(a) ST TS TadE <61 %H3WaT / hardness of the abrasive used
(b) W%Qﬁwfﬁﬂﬁﬁﬁﬁ / strength of the bond of the wheel

(¢)  ufewshiglgular / finish of the wheel
(@) = e hl waRar / hardness of the work piece

TH-07 3 March 2019
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5. el 3 e e A g ) s A e 3
| The process of improving the cutting action of grinding wheels is called
(a) %.%T( / Dressing ) 2HT / Turning
(c)  HRF/ Facing () @R B FY / Cleaning operation

6. UHUHURTH 51-A-46-L-5-V-23 % w H fufia forar rar 3| i 46 7 gt B
A grinding wheel is marked as 51-A-46-1-5-V-23. Here what does ‘46" denote?

(a)  UHTE M FHT / Kind of bond (b) @i/ Structure

@ TF TE 1 3ESF / Kind of Abrasive  (d) U9 I 3R / Grain size

7. A seREd, o —— Qe fd eyl @ wefta R
The study of pneumatics deals with system operated with,

() qdl/0il (h) 31/ Solid

{(c) S/ Water (d) ag/Air

8. uHeerEhHl Wi H, S e g
In cylindrical grinding, the rotation of job is

(a) Q%E%ﬁﬂglﬁa%‘éfm?/ Same as wheel rotation
{h) qfgu Eﬂﬁq % faada / Opposite to wheel rotation
(c) afde =g % SO ST / Varies with diameter of the wheel

(d)  fiel % SH1E % STEN siaerar / Varies with diameter of the job

TE-07 4 March 2019




ad

- U R RAO SATELLITE CENTRE, BENGALURU SET
isrE GRINDER | A

9. ORI

The grinding wheel iz a
(a) ek et e e 1T / Stone base cutting tool

(b) Tehed ﬁ!@ﬁﬁiﬁfw / Single point cutting tool
(c)  wTeSHTg T FUEA / Sand base cutting tool

(d)y dg ﬁljc:{ HTe] AT / Multi point cutting tool

10, . s e 3 swe foeu o aret srgade @t e ————— 3
The type of Abrasive used to grind glass is
(a) @‘(‘T‘f Emery (b TEREE/ Quartz

{c) fyfereria wafss / Silicon carbide () €/ Diamond

11, ¢ ffgaar o —— g T g 8
The grinding wheel marked with ‘C’ is made of

(a) W&Iﬁﬂ'ﬁf STETEE / Aluminium oxide  (b) H@ﬁﬁﬂﬁ ﬁ?\g / Aluminium nitride
(¢)  Tuferenia =iz / Silicon carbide (d) it Ags / Silicon nitride

12, 100-200 % AR 1 Bz gira et & {6, SHen Swi B s e @

The grit size of 100-200 indicates that it can be used for

{a) q@?ﬂ?{ i / coarse grinding ®b)  HEH I / medium grinding
(¢) "R WAH/ fine grinding () =5d A aH # / very fine grinding
TE-07 : 5 March 2019
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13, aguizar, Rt & svendes snoil Bt srarht & fhrer S werar 87

14.

16.

TE-07

The wheel from which abrasive grains can be easily dislodged is a

(a) M3/ Soft (by Hem [ Medium
{c) gt / Hard (dy &u/ Coarse
Srperdan S srer A arferepd weeh gt o) wEd R

The relative spacing occupied by the abrasive and the bond is called

() @M/ Structure ' (b) Yl / Bond strength

(c) i S F3NTH / Wheel hardness (@) TE/Grade

g g Al I — 1 o T o s 2
The dense structured wheels are used for grinding
(o)  dar |t/ Ductile material (b) GJTEIHHRT?IT gt / Malleable material
(@)  WOUUTER/ Brittle material (d) &g um/ Soft material
U B % R ot Tigp AR H-ST=F Y B 8
Enlarging the end of a hole conically is called
(a) F13+et [l / Counter sinking (b) Tl A / Counter boring
(¢) 999/ Drilling ’ \ (d) SIHET/ Boring
6 March 2019
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17.  vg @t ehien o 7¢Ok STt ST 1 i g =1 Bk =feu
What should be the nominal pitch of a Hacksaw blade for cutting soft material?
(a) 2 mm (by 1.8 mm

(c) 1.4 mm @y 08mm.

18, S afuylar ¥ R, fer & & fr e« wmd fomam st 87
Which is the type of operation performed for hole finishing?

(a) @¢ HUT / Boring - -(b) G/ Honing

(¢) 99T/ Milling (@) fesfor/ Deburring

19, uE 20 Hiex @ wew & 50 9,97, o % Fea o (ait) F 1w 87

How many rods of 50 cm length can be cut from a bar of 20 meters long?
@) 30 ®) 40 '
) 50 @ 60

20.  ammEgdEr five fge (o) o amh
The material of twist drill is generally

(a)  FTHeR SIUA 3¢E / Cubic boron nitride (CBN)
(b)  S=ufd et / High speed steel
(¢) SR/ Diamond

(@  fafert~ @l / Silicon earbide

TE-07 7 March 2019
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91— BT SR R S S SR Y EIE) W ST €
The Bore diameter is directly measuved by using
(a) NI/ Ring Gauge (by = SRS/ Bore Gauge
(¢)  eud T/ Dial Gauge (@ = AzlHex / Bore Micrometer

22, WUHEHRFT

The purpose of a Lathe centre is

(2) whdEf ﬂgaﬁfﬁ @) 2 T/ To support a short length of work piece
by - Wﬁﬁﬁﬂﬁlﬁ o ok 1 @t 26 SR / To support a long length of work piece
(c) F{ﬂﬂtﬂﬁa\%ﬁ ot ¢ et @1/ To clamp a short length of work piece

(& - FIrel) TIrers o ek e o BERST @HT/ To clamp a long length of work piece

93, e river sl ot st o g ) sifer 6 Rre o ST R
Thread ring gauges are used to check the accuracy of

() #&9El/ External thread (b) =&t =@l / Internal thread

{c) (gl =9 / External diameter () eT<&t =M/ Internal diameter

04 SRR T S 3 A0, Tee et e aer siie o wishar = e 8

Act of joining the Slip gaugeé together while building up to sizes is called
(a) =M/ Ringing (b Pt/ Wringing

(¢) &4/ Building (d) =W¥sAT/ Joining

THE-07 8 March 2019
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25.  32.8° chlul 1 EdH &
Angle 32.8° can be represented as

(a) 30 fft 30 a1k fiF2 / 30 Deg 30 Arc minute
(b) - 30 Teft 48 31k firie / 30 Deg 48 Ave minute
(c) 392 feift 48 atreh fime / 32 Deg 48 Arc minute

(@ 32 f&h 30 a1h e / 32 Deg 30 Arc minute

26, foreafarfaa T & S o, i s w3 et 27
Which of the given matevial produces no sparks while grinding?

(a)  wlet/ Steel (b) T/ Titanium
(¢  IIegiiEd/ Aluminium (d) Teer/ Nickel

97.  amreE, Ao e ———— e o =l Ed R
What type of thread, lead screw of a lathe generally has

- {a) T / Acme . (b) i/ Square

() TFEead/ Whit worth (d) g4/ Butteress

28. .01 mm FTAY — o (R

The measure of 0.01 mm is equal to

(a) 100 #I / microns : (hy 1 Heh(7 / microns
(¢) ~ 108 / microns () 1000 AHA/ microns

TE-07 ' 9 March 2019
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29. el ! R i H I B S i) wre o e §
The tool used in cutting an external thread is called a
() Toeefg@/ twist drill - (b) %_tr/ tap
© e’/ die (d) s/ end mill

30. TR M (g Tt oh e o Fr o e

The cutting edge of a standard twist drill is called

(a) <t g/ flutes (b) ©R/lips
(© WM/ wedges (d) et/ flanks
31, Tgrsoq & I ol shied Y par hr whed & i
The operation of threading a dvilled hole is calted as ,
(2) T/ lapping (b) %ag%h/ reaming
(c) - TERiFNe / bracing (D o / tapping

2. Ueh 39O A I FLATH N0 0.01 mm B HTITHWT BT 0.1 mm 1 A G e T 27

The least count of an instrument A is 0.01 mm and that of instrument B is 0.1 mm. Then

which statement is true:

(a) SURWUIA, BE ﬁ%‘?ﬁ(—‘{ﬁ{ 8/ Instrument A is more accurate than B
(b) SURE A, BY IRH T/ Insf;lgument A is more precise than B

(c) SUF B, A ¥ arften RILIE 2 / Instrument B is more accurate than A
(d) IR B, AQ 3 T 2/ Instrument B is more precise than A

TE-07 _ 10 Ma;‘ch 2019
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33.

34.

36.

36.

TE-07

forferfaa i & shr-un et Torg wBrest ot Suehion 27

Which of the following is a single point cutting tool?

(a) zad®/ Reamer (b}

(¢)  |HUAr/ Grinding wheel G)

A ITRWT / Boring tool

I9UE W 8 1T 98] / None of the above

o R o et T et — = siia % e Ear |

Bell ring test on grinding wheel is done to check

(a)  ufgush aregioendar / Trueness of wheel

(b) qﬁﬁmﬁﬁm / Surface finish of wheel

{c) ufge <y %3iar / Hardness of wheel

() AR/ Cracks in the wheel

H7/g6 < wrarar =t aierd, e wesr & fibe § glar 87

Tolerance of H7/g6 results in what type of fit?

(a) T/ Clearance (h)

(c)  ©HEY/ Interference - ()

1 Teuf) fore anieh @avet o SR g Y

1 Degree is equal to how many Arc seconds?

(@ 60 (b)

() 360 ‘ (d)
11

gl / Transition
IUEH @ IS T2/ None of the above

120
3600

March 2019
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37, Taefafaa @ 3 fora 3wt @ swi, fafga s 4 =8 @an?
Which of the following tools are not used for marking?
(a)  HIVHTIS / Protractor by GEH/ Scriber
(c)  “hfeTdL/ Caliper _ () TR / Divider

38. Wi wfew = gRpT o St §
Truing of a grinding wheel is done to
(a) URTFHFHSH fﬁwaﬁgﬂr; g % iU / Restore the sharpness of the wheel face
(b) N "dE W @t sifirdir e Eﬁ:,?’rﬁ % T / Restore correct geometrical shape to
grinding surface '

(¢)  uldwsht efderar dgferd %/ Statically balance the wheel
() uRRrsl miehl sy H‘@%ﬁ[ AT/ Dynamically balance the wheel

39. Frafafas # 9 wF-ar yrepkes w9 8 argene 27
Which of the following is a natural abrasive?
(@)  AlOs - () SsiC
(c) A FH3E / boron carbide (@ wwed/ Corundum

40. " A Y, e sy g

Pick up the incorrect statement about grinding

(a) H oY & G %%q, A IIET T 3T 81l @ / For grinding soft material, hard wheel is

used

(h) TR aXg & g ¥ fo1e, Falt qfge i 3w BT € / For grinding hard material, hard wheel
is used ‘

{c) Hg at] o W o T, @@ﬁ o Fravgehdl 8 / Tor grinding soft material, dry condition is
required

(@ N T F gt & T, el fuly <t erayerear g1t € / For grinding hard material, wet

condition is required

TE-07 12 March 2019
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41. i el w30 s, Iw e (1/6) R 7 et ¥, 6t 3w der e (4/8)” Wi
If (3/4)t of a number is 7 more than (1/6)™ of the number, then (4/3)* of the number is ‘

@ 16 ®) 12 | 11
© 20 @ 15 |
0 ~1

12. 2_1+_330 EHEIE |
30 + -1 i
= is equal to ‘
(ay 1 b -2
e -1 : d 2

_ B 1. 1 '
43 dka= («/§+1), b= («/§~1), il @D +—(b+]) I HH 2]

1 1 .
Ifa= (\E+ 1), b= («/5—1), then the value of G+—1)+__(b+1) 18
@ 9 (b) 3
© 9 @ 1 |

44. =R m, n, oIl W%,ﬁﬁ%ﬁﬁﬁ—w@%? ‘

If m, n, o are in geometric progression, then which is irue among the following?

{a) n= m; 0 by m?=no
() n=+mo (d) n.2
o n

TE-07 13 March 2019
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45.

46.

A7.

48.

i tan A=cot B; Al A+B="7

If tan A =cot B; then A+ B =7

(ay 60° (b)
(¢)  45° (d)
g el § facet feenof €7

HOW many diagonals are there in an octagon?
(a) 8 {b)
(c) 18 (d)

f3 s i =By v ) T o TR ST, Y 9 e o &

Tf the radius of a sphere be doubled, the area of its surface will become

{a) T/ Double (b)

(¢)  ERTAT/ Four Times (d)

16

20

@A T/ Three Times

s T8 / None

Bl

st A e, A ot 3 <R ST 1 S 8: 13 1| S TR ST 5:7 81 A 5 o AR o £

Eighteen years ago, the ratio of A’s age to B's age was 8:13: Their

is the present age of A.
(a) 60 (b
(¢ 80 (d)

TE-07 - 14

70

40

present ratio is 5:7; What
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9. R (3852} + 7 = 260; @ xR
If (3‘”3) +7 = 250; then x is equal to
(a) b by 2
€ 3 @ 1

50.  (0,3) 3TN (4,0) Frawiieni o wex i gl wm &7 |
What is the distance between the coordinates (0,3) and (4,0)?
(@ 6 by 7
@ 1 @ 12

51. - @d@,wmﬁaﬁ@%ﬁaﬁ,ﬁ%ﬁ@ﬁ%ﬁﬁgﬁwﬂ%mwé,a‘rwﬁ%@
STt O R T ?

A feather, a plastic ball and a steel ball are dropped simultaneously from a common point in
vacuum. Which one will touch the ground first?

(1) E@Tg/ Steel Ball

(b) 9@/ Feather

(c) i e/ Plastic Ball .
(d) b v o Tmw s 9 A/ All will reach at the same time

52wk el b 9 g ) 3k 6.4 Frelshr ) 70 30 Fre A s 1 sh 6 Rt/ R
B

A man fakes 30 minutes to cover a distance of 6.4 kilometers due east on a bicycle. His
velocity in kilometers / hour will be

{a) 3.2 (b) 12.8
(¢} 256 (d 6.4

TE-07 , 15 Mareh 2019
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53.  wwiaHE, 19.62mﬁ%ﬁﬁﬁ%ﬁww%lﬁamﬁ§@%%mﬁ%mw@n?
A ball is dropped from a window of 19.62 meters high. How long will it take to reach the
ground?
{a) 1sec (b) 4sec
(c) 2 sec C(d)  0.5sec
Fd. S STl oh Ul i ST S B
In comparigon to pure water, Boiling point of impure water
(a) MR/ is same
(b) a?a?ﬁ% / increases
(c) Hedl & / decreases
{d) Wﬁ%ﬁ%ﬁﬂﬂﬂ?ﬁ% { first decreases then Increases
55. it s S e Sl T ot §
Ratio of Kinetic energy to potential energy is
(&) v[2gh (b)  ghf2?
(c) mgh ‘ @ mv’ / 2
56, S QA oeal 8, 9 % e —————|

TE-07 16

As temperature rises, particles of matter

(a) A =erd & / Move faster

| () &8 =er & / Move slower

() T o Heter 7 yiEd=E / No change w.r.t temperature
() ST § O RIS T8l / None of the above

March 2019
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57, Frerforfa 3 Q e s i 3w, Gy 8% % arm A g 2

Which of the following instrument is uged to measure magnetic field?

(a)  9wriet/ Thermometer (by waEE Hiet/ Flux meter
(¢) T/ Pyrometer (1) W/ Hygrometer
B8.  =Teieh & BT Selg o eI SeA el hi : 7 5 far s g
Heat produced due to flow of current through a conductor is given by formula
| (@) H=1IRt _ by H= ng
{c) H =V {d) Al of the above

59. R gerE <l ek B
Direction of flow of current is from
(a)  *EpcHe fldet O WeHRIeTR zfitTer i et/ Negative Terminal to Positive Terminal

(b)  HENTETR <l T T fifer it 3T/ Positive Terminal to Negative Terminal
(¢c) <NI/Both
(&) @ =g €/ None of these

60. o T U o T ST 600 N 3| i U SR AR Q7
The Weight of an object on Earth is 600 N. What will be its weight on moon?
a) ON (by 600N |
(c) 600 N & &H / Less than 600 N () 600 N @ aiftrer / More than 600 N

TE-07 17 March 2019
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5. gl avgiE TR 3 1 % WA Wﬁﬁiaﬁw%mmm,wq%ﬁmwaﬁiwm%%qw 3R T
s | PRl w6 o g ST o TR STCAMT S
All objective type questions' carry equal marks of THREE for a correct answer, ZERO for no answer and
MINUS ONE for wrong answer. Multiple answers for a question will be regarded as a wrong answer.

6. u%g@waﬁar%#aﬂtw%mﬁmgmgmgmgﬁ%aﬁmw%, i OMR 3lie W, fessl T Tt don
AR STt T v &1 Qe T O, - GRRT ehl Tkl T R e

Question booklets have been marked with A or B of G or D on the right hand top corner, which is mandatory
to be written on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not

be evaluated.

aﬁwé,ﬁg@wﬁmwﬁaﬁm%@mﬁv%mm%i e o wite = e smem

Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.

Jufearfy ofte T gEara H A T, sl <0y saferf e w gt e ferge ) el ) 0 3 WA
ST T Bl

Before signing the attendance sheet, the candidate should write the Booklet Code in t
Candidates should sign against THEIR names only.

he attendance sheet.

9. ulmi¥md (1)uﬁaq%a%ﬁﬁawﬁwwqa(2)Q§rOMR3ﬁwﬂzaﬁﬁﬁmaﬁmaﬁam%eﬁ i afdfeuta
# el 58 99 )

At the end of the test (1) Written test Call | etters(s) with phatograph pasted on it (2} Original OMR Answer
Sheet shall be returned to the Invigilator and shall not be carried by the candidate under any circumstances.

10. fid wuiaor & Fefem % dad o o it wifterar / Faare B0 o et 1, STkl ST Hel " S

In case of any ambiguity/ dispute arises on account of interpretation of Hindi version, English version shall

finally prevail.

wkk
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